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NEW QUESTION 1
In which normal form is a table, if it has no multi-valued attributes and no partial dependencies?

A. second normal form
B. first normal form

C. third normal form
D. fourth normal form

Answer: A

Explanation:
References:
https://blog.udemy.com/database-normal-forms/

NEW QUESTION 2
You issue this command which succeeds: SQL> DROP TABLE products;
Which three statements are true?

A. All existing views and synonyms that refer to the table are invalidated but retained.
B. Any uncommitted transaction in the session is committed.

C. Table data and the table structure are deleted.

D. All the table’s indexes if any exist, are invalidated but retained.

E. Table data is deleted but the table structure is retained.

Answer: BCD

NEW QUESTION 3

Evaluate the following ALTER TABLE statement:
ALTER TABLE orders

SET UNUSED (order_date); Which statement is true?

A. After executing the ALTER TABLE command, you can add a new column called ORDER_DATE to the ORDERS table.
B. The ORDER_DATE column should be empty for the ALTER TABLE command to execute succsessfully.

C. ROLLBACK can be used to get back the ORDER_DATE column in the ORDERS table.

D. The DESCRIBE command would still display the ORDER_DATE column.

Answer: A

NEW QUESTION 4
Evaluate this ALTER TABLE statement: (Choose the best answer.) ALTER TABLE orders
SET UNUSED (order_date); Which statement is true?

A. After executing the ALTER TABLE command, a hew column called ORDER_DATE can be added to the ORDERS table.
B. The ORDER_DATE column must be empty for the ALTER TABLE command to execute successfully.

C. ROLLBACK can be used to restore the ORDER_DATE column.

D. The DESCRIBE command would still display the ORDER_DATE column.

Answer: A

NEW QUESTION 5

The BOOKS_TRANSACTIONS table exists in your schema in this database.

You execute this SQL statement when connected to your schema in your database instance. SQL> SELECT * FROM books_transactions ORDER BY 3;
What is the result?

A. The execution fails unless the numeral 3 in the ORDER BY clause is replaced by a column name.

B. All table rows are displayed sorted in ascending order of the values in the third column.

C. The first three rows in the table are displayed in the order that they are stored.

D. Only the three rows with the lowest values in the key column are displayed in the order that they are stored.

Answer: B

NEW QUESTION 6

You must create a SALES table with these column specifications and data types: (Choose the best answer.) SALESID: Number
STOREID: Number ITEMID: Number

QTY: Number, should be set to 1 when no value is specified

SLSDATE: Date, should be set to current date when no value is specified

PAYMENT: Characters up to 30 characters, should be set to CASH when no value is specified Which statement would create the table?

A. CREATE TABLE Sales(SALESID NUMBER (4),STOREID NUMBER (4),ITEMID NUMBER (4),QTY NUMBER DEFAULT = 1,SLSDATE DATE DEFAULT
SYSDATE,PAYMENT VARCHAR2(30) DEFAULT = "CASH");

B. CREATE TABLE Sales(SALESID NUMBER (4),STOREID NUMBER (4),ITEMID NUMBER (4),QTY NUMBER DEFAULT = 1,SLSDATE DATE DEFAULT
'SYSDATE',PAYMENT VARCHAR2(30) DEFAULT CASH);

C. CREATE TABLE Sales(SALESID NUMBER (4),STOREID NUMBER (4),ITEMID NUMBER (4),qty NUMBER DEFAULT = 1,SLSDATE DATE DEFAULT
SYSDATE,PAYMENT VARCHAR2(30) DEFAULT = "CASH");

D. Create Table sales(salesid NUMBER (4),Storeid NUMBER (4),Itemid NUMBER (4),QTY NUMBER DEFAULT 1,SIsdate DATE DEFAULT SYSDATE,payment
VARCHAR2(30) DEFAULT 'CASHY);
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Answer: D

NEW QUESTION 7
View the exhibit for the structure of the STUDENT and FACULTY tables. STUDENT
NameNull?Type

LOCATION_IDNUMBER(2) FACULTY
NameNull?Type

Examine the following two SQL statements: Statement 1

SQL>SELECT faculty_name, COUNT(student_id) FROM student JOIN faculty
USING (faculty _id, location_id) GROUP BY faculty _name; Statement 2
SQL>SELECT faculty_name, COUNT(student_id)

FROM student NATURAL JOIN faculty GROUP BY faculty _name;

Which statement is true regarding the outcome?

A. Only statement 2 executes successfully and gives the required result.

B. Only statement 1 executes successfully and gives the required result.

C. Both statements 1 and 2 execute successfully and give different results.

D. Both statements 1 and 2 execute successfully and give the same required result.

Answer: B

NEW QUESTION 8
Which two tasks can be performed by using Oracle SQL statements?

A. changing the password for an existing database user

B. connecting to a database instance

C. querying data from tables across databases

D. starting up a database instance

E. executing operating system (OS) commands in a session

Answer: AC
Explanation:
References:

http://www.techonthenet.com/oracle/password.php
https://docs.oracle.com/cd/B28359_01/server.111/b28324/tdpii_distdbs.htm

NEW QUESTION 9

View the exhibit and examine the description of the PRODUCT_INFORMATION table.

STUDENT_IDNOT NULLNUMBER(2) STUDENT_NAMEVARCHAR2(20) FACULTY_IDVARCHAR2(2)

FACULTY_IDNOT NULLNUMBER(2) FACULTY_NAMEVARCHAR2(20) LOCATION_IDNUMBER(2)
You need to display the faculty name followed by the number of students handled by the faculty at the base location.

CANGUAGE © |

Lk g e B A

Which SQL statement would retrieve from

the table the number of products having LIST_PRICE as NULL?

A. SELECT COUNT (DISTINCT list_price)FROM product_informationWHERE list_price is NULL
B. SELECT COUNT (NVL(list_price, 0))FROM product_informationWHERE list_price is NULL

C. SELECT COUNT (list_price)FROM product_informationWHERE list_price i= NULL
D. SELECT COUNT (list_price)FROM product_informationWHERE list_price is NULL

Answer: B

NEW QUESTION 10

Which three arithmetic operations can be performed on a column by using a SQL function that is built into Oracle database? (Choose three.)

A. Finding the lowest value
B. Finding the quotient

C. Raising to a power

D. Subtraction

E. Addition
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Answer: ACE

NEW QUESTION 10

On your Oracle 12c database, you invoked SQL *Loader to load data into the EMPLOYEES table in the HR schema by issuing the following command:
$> sqlldr hr/hr@pdb table=employees

Which two statements are true regarding the command?

A. It succeeds with default settings if the EMPLOYEES table belonging to HR is already defined in the database.
B. It fails because no SQL *Loader data file location is specified.

C. It fails if the HR user does not have the CREATE ANY DIRECTORY privilege.

D. It fails because no SQL *Loader control file location is specified.

Answer: AC

NEW QUESTION 12
Which three SQL statements would display the value 1890.55 as $1,890.55? (Choose three.)

A. SELECT TO_CHAR (1890.55, '$99G999D00) FROM DUAL
B. SELECT TO_CHAR (1890.55, '$9,999V99') FROM DUAL;

C. SELECT TO_CHAR (1890.55, '$0G000D00') FROM DUAL;
D. SELECT TO_CHAR (1890.55, '$99,999D99') FROM DUAL;
E. SELECT TO_CHAR (1890.55, '$99G999D99') FROM DUAL

Answer: ACE

NEW QUESTION 13
Which statement is true about transactions?

A. A set of Data Manipulation Language (DML) statements executed in a sequence ending with a SAVEPOINT forms a single transaction.
B. Each Data Definition Language (DDL) statement executed forms a single transaction.

C. A set of DDL statements executed in a sequence ending with a COMMIT forms a single transaction.

D. A combination of DDL and DML statements executed in a sequence ending with a COMMIT forms a single transaction.

Answer: B

Explanation:
References:
https://docs.oracle.com/database/121/CNCPT/transact.htm#CNCPT038

NEW QUESTION 16
Which statement is true about Enterprise Manager (EM) express in Oracle Database 12c?

A. By default, EM express is available for a database after database creation.

B. You can use EM express to manage multiple databases running on the same server.

C. You can perform basic administrative tasks for pluggable databases by using the EM express interface.
D. You cannot start up or shut down a database Instance by using EM express.

E. You can create and configure pluggable databases by using EM express.

Answer: A

NEW QUESTION 20
View the Exhibit and examine, the description for the SALES and CHANNELS tables. (Choose the best answer.)
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You issued this SQL statement:

INSERT INTO SALES VALUES (23, 2300, SYSDATE, (SELECT CAHNNEL_ID

FROM CHANNELS

WHERE CHANNEL_DESC='DIRECT SALES"), 12, 1, 500);

Which statement is true regarding the result?
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A. The statement will fail because the sub-query in the VALUES clause is not enclosed within single quotation marks.
B. The statement will fail because a subquery cannot be used in a VALUES clause.
C. The statement will execute and a new row will be inserted in the SALES table.

D. The statement will fail because the VALUES clause is not required with the subquery.

Answer: C

NEW QUESTION 23

View the Exhibit and examine the structure of the SALES and PRODUCTS tables. (Choose two.)

SALES

Name Null? Type

PROD ID NOT NULL NUMBER (3)

CUST ID NOT NULL NUMBER (4)

TLMs LD DATE

QTY SOLD NUMBER (10, 2)
PRODUCTS

Name Null? Type

PROD_ID NOT NULL NUMBER(3)
PROD NAME VARCHARZ (30)

PROD LIST PRICE

been sold.

NUMBER (8, 2)

In the SALES table, PROD_ID is the foreign key referencing PROD _ID in the PRODUCTS table. You must list each product ID and the number of times it has

Examine this query which is missing a JOIN operator: SQL > SELECT p.prod_id, count(s.prod_id)

FROM products p sales s ON p.prod_id = s.prod_id
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GROUP BY p.prod_id;
Which two JOIN operations can be used to obtain the required output?

A. FULL OUTER JOIN
B. JOIN

C. LEFT OUETR JOIN
D. RIGHT OUTER JOIN

Answer: AC

NEW QUESTION 26
Which two statements are true regarding the EXISTS operator used in the correlated subqueries? (Choose two.)

A. The outer query stops evaluating the result set of the inner query when the first value is found.

B. It is used to test whether the values retrieved by the inner query exist in the result of the outer query.

C. It is used to test whether the values retrieved by the outer query exist in the result set of the inner query.

D. The outer query continues evaluating the result set of the inner query until all the values in the result set are processed.

Answer: AC
Explanation:

References:
http://www.techonthenet.com/oracle/exists.php

NEW QUESTION 30
View the Exhibit and examine the structure of the PROMOTION table.

NOT NULLJDATE

You have to generate a report that displays the promo named start data for all promos that started after that last promo in the INTTERNET’ category.

A. Select promo_name, promo_being_date FROM promoptions WHERE promo_being_data > ANY (SELCT promo_being-date FROM promotionsWHERE
promo_category = INTERNET’

B. SELECT promo_neme, promo_being_date FROM promotions WHERE promo_being_date > All (SELECT promo_beinjg-date FROM promotionsWHERE
promo_category = INTERNET" );

C. SELECT promo-name, promo-being _date FROM promotionsWhere promo_being_data >ALL (SELECT MAX (promo_being-date) FROM promotions )
ANDPromo-category = INTERNET’;

D. SELECT promo-name, promo-being_date FROM promotion WHERE promo-being-date IN (SELECT promo_biing_date FROM promotionsWHERE
promo_category="INTYERNET");

Answer: B

NEW QUESTION 33
View the Exhibit and examine the structure of the PORDUCT_INFORMATION table. (Choose the best answer.)
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PRODUCT_ID column is the primary key. You create an index using this command: SQL > CREATE INDEX upper_name_idx
ON product_information(UPPER(product_name));
No other indexes exist on the PRODUCT_INFORMATION table. Which query would use the UPPER_NAME_IDX index?

A. SELECT product_id, UPPER(product_name)FROM product_informationWHERE UPPER(product_name) = 'LASERPRO' OR list_price > 1000;
B. SELECT UPPER(product_name)FROM product_information;

C. SELECT UPPER(product_name)FROM product_informationWHERE product_id = 2254;

D. SELECT product_idFROM product_informationWHERE UPPER(product_name) IN (LASERPRO’, 'CABLE");

Answer: D

NEW QUESTION 35
You need to display the date 11-oct-2007 in words as ‘Eleventh of October, Two Thousand Seven’. Which SQL statement would give the required result?

A. SELECT TO_CHAR (TO_DATE ('11-oct-2007’), ‘fmDdthsp “of” Month, Year')FROM DUAL
B. SELECT TO_CHAR (‘11-oct-2007’, ‘fmDdspth “of” Month, Year’)FROM DUAL

C. SELECT TO_CHAR (TO_DATE (‘11-oct-2007"), fmDdspth of month, year)FROM DUAL
D. SELECT TO_DATE (TO_CHAR ('11-oct-2007"), ‘fmDdspth “of” Month, Year’))FROM DUAL

Answer: C

NEW QUESTION 37

Examine the SQL statement used to create the TRANSACTION table. (Choose the best answer.)

SQL > CREATE TABLE transaction (trn_id char(2) primary key,

Start_date date DEFAULT SYSDATE, End_date date NOT NULL);

The value 'Al' does not exist for trn_id in this table.

Which SQL statement successfully inserts a row into the table with the default value for START_DATE?

A. INSERT INTO transaction VALUES (‘Al', DEFAULT, TO_DATE(DEFAULT+10))

B. INSERT INTO transaction VALUES (‘Al', DEFAULT, TO_DATE('SYSDATE+10")

C. INSERT INTO transaction (trn_id, end_date) VALUES ('Al', '10-DEC-2014")

D. INSERT INTO transaction (trn_id, start_date, end_date) VALUES ('Al', , '10-DEC-2014"

Answer: C

NEW QUESTION 42

Evaluate the following CRTEATE TABLE commands:

CREATE_TABLE orders

(ord_no NUMBER (2) CONSTRAINT ord_pk PRIMARY KEY,

ord_date DATE, cust_id NUMBER (4) );

CREATE TABLE ord_items (ord _no NUMBER (2),

item_no NUMBER(3),

gty NUMBER (3) CHECK (qty BETWEEEN 100 AND 200),

expiry_date date CHECK (expiry_date> SYSDATE), CONSTRAINT it_pk PRIMARY KEY (ord_no, item_no),

CONSTARAINT ord_fk FOREIGN KEY (ord_no) REFERENCES orders (ord_no) ); Why would the ORD_ITEMS table not get created?

A. SYSDATE cannot be used with the CHECK constraint.

B. The BETWEEN clause cannot be used for the CHECK constraint.

C. The CHECK constraint cannot be placed on columns having the DATE data type.

D. ORD_NO and ITEM_NO cannot be used as a composite primary key because ORD_NO is also the FOREIGN KEY.

Answer: A

The Leader of IT Certification visit - https://www.certleader.com



CertLeadero 100% Valid and Newest Version 1Z0-071 Questions & Answers shared by Certleader

Landet of IT Geriiloations https://www.certleader.com/1Z0-071-dumps.html (187 Q&AS)

NEW QUESTION 43
Which three statements are true reading subquenes?

A. A Main query can have many subqueries.

B. A subquery can have more than one main query.

C. The subquery and main query must retrieve date from the same table.

D. The subquery and main query can retrieve data from different tables.

E. Only one column or expression can be compared between the subquery and main query.
F. Multiple columns or expressions can be compared between the subquery and main query.

Answer: ADF

NEW QUESTION 44
View the Exhibit and examine the structures of the employees and departments tables.

You must update the employees table according to these requirements::

-Update only those employees who work in Boston or Seattle (locations 2900 and 2700).

-Set department_id for these employees to the department id corresponding to London (locationid 2100).

-Set the employees' salary in iocation_id 2100 to 1.1 times the average salary of their department.

-Set the employees' commission In location_id 2100 to 1.5 times the average commission of their department. You issue this command:

What is the result?

A. It executes successfully but does not produce the desired update.

B. It executes successfully and produces the desired update.

C. It generates an error because multiple columns cannot be specified together in an UPDATE statement.
D. It generates an error because a subquery cannot have a join condition in an update statement.

Answer: A

NEW QUESTION 46
Which two statements are true regarding constraints?
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A. A table can have only one primary key and one foreign key.

B. A table can have only one primary key but multiple foreign keys.

C. Only the primary key can be defined at the column and table levels.

D. The foreign key and parent table primary key must have the same name.

E. Both primary key and foreign key constraints can be defined at both column and table levels.

Answer: BE
NEW QUESTION 50

View the exhibit and examine the descriptions of the DEPT and LOCATIONS tables.
DEPT _ 2k fisnatita i P |

SRR e o
NOT NULL

|COUNTRY_ID orare)

You want to update the CITY column of the DEPT table for all the rows with the corresponding value in the CITY column of the LOCATIONS table for each
department.

Which SQL statement would you execute to accomplish the task?

A. UPDATE dept dSET city = ALL (SELECT cityFROM locations IWHERE d.location_id = l.location_id);
B. UPDATE dept dSET city = (SELECT cityFROM locations )WHERE d.location_id = l.location_id;

C. UPDATE dept dSET city = ANY (SELECT cityFROM locations I)

D. UPDATE dept dSET city = (SELECT cityFROM locations IWHERE d.location_id = l.location_id);

Answer: D

NEW QUESTION 55
Which two partitioned table maintenance operations support asynchronous Global Index Maintenance in Oracle database 12c¢?

A. ALTER TABLE SPLIT PARTITION

B. ALTER TABLE MERGE PARTITION

C. ALTER TABLE TRUNCATE PARTITION
D. ALTER TABLE ADD PARTITION

E. ALTER TABLE DROP PARTITION

F. ALTER TABLE MOVE PARTITION

Answer: CE

NEW QUESTION 57
View the Exhibit and examine the structure of the PRODUCT _INFORMATION and INVENTORIES tables.

NOT NULL [TIMESTAMPYS)

N
¥H_OED_LOCATION] MOSYS SDO_CEOMETRY]

You have a requirement from the supplies department to give a list containing PRODUCT _ID, SUPPLIER_ID, and QUANTITY_ON_HAND for all the products
wherein QUANTITY_ON_HAND is less than five.
Which two SQL statements can accomplish the task? (Choose two.)
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A. SELECT i.product_id, i.quantity_on_hand, pi.supplier_idFROM product_information pi JOIN inventories iON (pi.product_id=i.product_id)WHERE

guantity_on_hand < 5;

B. SELECT product_id, quantity_on_hand, supplier_idFROM product_informationNATURAL JOIN inventories AND quantity_on_hand < 5;
C. SELECT i.product_id, i.quantity_on_hand, pi.supplier_idFROM product_information pi JOIN inventories iON (pi.product_id=i.product_id) AND quantity_on_hand

<b5;

D. SELECT i.product_id, i.quantity_on_hand, pi.supplier_idFROM product_information pi JOINinventories iON (pi.product_id=i.product_id)USING (product_id)

AND quantity_on_hand < 5;

Answer: AC

NEW QUESTION 60

Evaluate the following SQL statement:

SELECT product_name |[| 'it's not available for order' FROM product_information

WHERE product_status = 'obsolete’;

You received the following error while executing the above query: ERROR

ORA-01756: quoted string not properly terminated What would you do to execute the query successfully?

A. Use Quote (q) operator and delimiter to allow the use of single quotation mark in the literal character string.

B. Enclose the literal character string in the SELECT clause within the double quotation marks.

C. Do not enclose the character literal string in the SELECT clause within the single quotation marks.

D. Use escape character to negate the single quotation mark inside the literal character string in the SELECT clause.

Answer: A

Explanation:
References:
http://docs.oracle.com/cd/B19306_01/server.102/b14200/sql_elements003.htm

NEW QUESTION 65
Which two statements are true regarding multiple-row subqueries? (Choose two.)

A. They can contain group functions.

B. They always contain a subquery within a subquery.

C. They use the < ALL operator to imply less than the maximum.

D. They can be used to retrieve multiple rows from a single table only.

E. They should not be used with the NOT IN operator in the main query if NULL is likely to be a part of the result of the subquery.

Answer: AE

NEW QUESTION 66
Examine the structure of the BOOKS_TRANSACTIONS table:

(6)

Name Null? Type
TRANSACTION ID NOT NULL VARCHARZ2
BORROWED DATE DATE

DUE DATE DATE
BOOK ID VARCHAR2
MEMBER ID VARCHARZ2

(6)

You want to display the member IDs, due date, and late fee as $2 for all transactions. Which SQL statement must you execute?

A. SELECT member_id AS "MEMBER ID", due_date AS "DUE DATE", $2 AS "LATE FEE" FROM BOOKS_TRANSACTIONS
B. SELECT member_id AS "MEMBER ID", due_date AS "DUE DATE", '$2' AS "LATE FEE" FROM BOOKS_TRANSACTIONS

C. SELECT member_id 'MEMBER ID', due_date '‘DUE DATE', '$2 AS LATE FEE' FROM BOOKS_TRANSACTIONS;

D. SELECT member_id AS MEMBER_ID, due_date AS DUE_DATE, $2 AS LATE_FEE FROM BOOKS_TRANSACTIONS

Answer: B

NEW QUESTION 68

Examine the following query:

SQL> SELECT prod_id, amount_sold FROM sales
ORDER BY amount_sold

FETCH FIRST 5 PERCENT ROWS ONLY;

What is the output of this query?

A. It displays 5 percent of the products with the highest amount sold.

B. It displays the first 5 percent of the rows from the SALES table.

C. It displays 5 percent of the products with the lowest amount sold.

D. It results in an error because the ORDER BY clause should be the last clause.

Answer: C
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Explanation:
References:

https://oracle-base.com/articles/12c/row-limiting-clause-for-top-n-queries-12crl

NEW QUESTION 72

You need to produce a report where each customer’s credit limit has been incremented by $1000. In the output, the customer’s last name should have the
heading Name and the incremented credit limit should be labeled New Credit Limit. The column headings should have only the first letter of each word in

uppercase.
Which statement would accomplish this requirement?

A. SELECT cust_last_name AS “Name”, cust_credit_limit + 1000AS “New Credit Limit’FROM customers;

B. SELECT cust_last_name AS Name, cust_credit_limit + 21000AS New Credit LimitFROM customers;

C. SELECT cust_last_name AS Name, cust_credit_limit + 1000“New Credit Limit’FROM customers;

D. SELECT INITCAP (cust_last_name) “Name”, cust_credit_limit + 2000INITCAP (“NEW CREDIT LIMIT")FROM customers;

Answer: A

NEW QUESTION 77
Examine the structure of the MEMBERS table. NameNull?Type

FIRST_NAMEVARCHAR? (50)
LAST_NAMENOT NULLVARCHAR?2 (50)
ADDRESSVARCHAR?2 (50)
CITYVARCHAR? (25)

STATENOT NULL VARCHAR? (3)

Which query can be used to display the last names and city names only for members from the states MO and MI?

A. SELECT last_name, city FROM members WHERE state ='MO' AND state ='MI’;

B. SELECT last_name, city FROM members WHERE state LIKE 'M%;
C. SELECT last_name, city FROM members WHERE state IN (MO, ‘MI');

D. SELECT DISTINCT last_name, city FROM members WHERE state ='MO' OR state ='MI’;

Answer: C

NEW QUESTION 80

MEMBER_IDNOT NULLVARCHARZ2 (6)

Sales data of a company is stored in two tables, SALES1 and SALES2, with some data being duplicated across the tables. You want to display the results from the

SALESL1 table, which are not present in the SALES2 table.
SALESL1 table NameNullType

SALES? table NameNullType

ITEMS_IDNUMBER QUANTITYNUMBER SALES DATEDATE
Which set operator generates the required output?

A. INTERSECT
B. UNION

C. PLUS

D. MINUS

E. SUBTRACT

Answer: D
Explanation:

References:
https://docs.oracle.com/cd/B19306_01/server.102/b14200/queries004.htm

NEW QUESTION 81

View the Exhibit and examine the structure of the PRODUCTS table. (Choose the best answer.)

Table PRODUCTS
(Name ______JNuil? /P

PRODID  INOT NULL | NUMBER(S)
PROD_NAME NOT NULL | VARCHAR2(50)
PROD_DESC NOT NULL | VARCHAR2(4000)
PROD_CATEGORY NOT NULL | VARCHAR2(50)
PROD_CATEGORY_ID NOT NULL

I 3 NUMBER
PROD_UNIT_OF_MEASURE VARCHAR2(20)
: NOT NULL

NUMBER(S)
NOT NULL | VARCHARZ(20)
NOT NULL

NUMBER(8.2)
E NOT NULL | NUMBER(S,2)

You must display the category with the maximum number of items.
You issue this query:

SQL > SELECT COUNT(*), prod_category_id FROM products
GROUP BY prod_category_id

HAVING COUNT(*) = (SELECT MAX(COUNT(*)) FROM porducts);
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What is the result?

A. It generates an error because = is not valid and should be replaced by the IN operator.
B. It executes successfully but does not give the correct output.

C. It executes successfully and gives the correct output.

D. It generate an error because the subquery does not have a GROUP BY clause.

Answer: D

NEW QUESTION 83
Examine the structure of the BOOKS_ TRANSACTIONS table:

g v s Hull? Tm
mmn.cr::_gn o e —— g
BORROWED DATE :ﬁm:a}
DUE_DATE DATE
:E:“I VARCHARZ (6)
_ID VARCHAR? (6)

Examine the SQL statement:

SQL> SELECT * FROM books_transactions WHERE borrowed date<SYSDATE AND
('Mﬂi'. 'AL02! ] i/
Which statement is true about the outcome?

A. It displays details only for members who have borrowed before today with RM as TRANSACTION_TYPE.

transaction type="kM' OR, MEMBER ID IN

B. It displays details for members who have borrowed before today's date with either RM asTRANSACTION_TYPE or MEMBER_ID as A101 and A102.

C. It displays details for only members A101and A102 who have borrowed before today with RM as TRANSACTION_TYPE.

D. It displays details for members who have borrowed before today with RM as TRANSACTION_TYPE and the details for members A101 or A102.

Answer: A

NEW QUESTION 88
View the exhibit and examine the structure of the SALES, CUSTOMERS, PRODUCTS and TIMES tables.

SH P S - -
L]
[}
1
i Type
. L - = = ——
J i DATE
i | [DAY_MAME VARCHARIE)
i 1 DAY _NUMBER_IN_MONTH NUMBER(Z
PROMG SUBLATEGORT = | NUMBER(Z) |
W£F ' i [CALENDAR WEEK_NUMBER
= I [CALENDAR_MONTH_NUMBER WUMBERIZ)
T CATETRT T HOAR,
! = m:::ﬁ ﬁ::::m 5 | [CALENDAR_WONTH_MAME | VARCHARZIY |
- z [l
pm"mg E!mml BaTE SGTIMELIDATE ' CALENDAR_YEAR ROT NULL| NUMBER(E
[PROMO_END_DATE NOT NULL]DATE 1
il
i
H 1
r- :
i i
i
i n
i EH.I.HHEI.“II,'I - 1
1 UNIT_COST  [NOT NULL|NUMBER{10,2) =y b=y ’
1 (== ne
H UNIT_FRICE |NOT NuLL|WUMBER(10.2)] i = )
[ 1 1
i 'y =%y
i 1 o
i - :
i 1i ;
[ g ]
i [7abie PRODUCTS i i
L]
- Wall? i {
L 4y e
L
NAME NOT MULL | VA RCHARR(80) 1 1
i Nams huill?
PROD_DESC NOT NULL | vaRCHAR2(4000)] et |
PROD_CATEGORT NOT NULL | W RCHAR2{50) "
< CHANNEL_DESC 1 CHA
[FROD_CATEGORY 10 noT NULL | NunBen ! AL NOT WL TARE
PROC_UNT_OF_MEAZURE VARCHARZEN | o CHANNEL_CLASS_ID | NOT NULL] NUMBER
EOFFLIER_ID NOT NULL || RUMBER|S) 1 %
1 CHANNEL_TOTAL | ROT NULL| VARCHARS13
PROD_STATUS NOT NULL | VARCHARZ(20) 1 CHARNEL_TOTAL_ID | NOT MULL] NUMBER
FROO_LIST_PRICE NOT NULL | NUMBER(S. 2} 1 -
PROU_GIR_FROCE NOT MULL | NUMBE FiB.2) ;
1]
1
L]
1
i ITable CUSTOMERS
i Feame Nuir? Typs
L = S CUST_ID NOTHULL | NUMBER
CUST_FIRET_NAME NOT NULL | VARCHARZ (30}
CUST_LAST NANE WOT NULL | VARCHARZ [48)
CUST_YEAR_UF_BIRTH | NOT NULL | NUNBER (4)
CUST_MARITIAL_STATUS VARCHARZ (20 hame Jhuiz  [Type

CUST_STREET ADDRESS | NOT NULL | VARCHARE (40}
CUST_POSTAL_CODE ROT NULL | vaRCHARE {16)
CUST_CITY ROT NULL

COUN RiE NOT HULLPWARC HARZ(3)

COUNTHRY NAME NOT MULLPYAREC HAR2(40)

[CUST_STATE_PROVINGE | COUNTRY_TOTAL _|noT huLLJVARCHARZ(11)

E

COUNTRY D ROT NULL |
CUST_INGOME_LEVEL
CUST_CREDIT_LIMIT
CUST_EMAIL

The PROD_ID column is the foreign key in the SALES tables, which references the PRODUCTS table.

Similarly, the CUST_ID and TIME_ID columns are also foreign keys in the SALES table referencing the CUSTOMERS and TIMES tables, respectively.

Evaluate the following CREATE TABLE command:
CREATE TABLE new_sales (prod_id, cust_id, order_date DEFAULT SYSDATE)
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AS
SELECT prod_id, cust_id, time_id FROM sales;
Which statement is true regarding the above command?

A. The NEW_SALES table would get created and all the NOT NULL constraints defined on the specified columns would be passed to the new table.

B. The NEW_SALES table would not get created because the DEFAULT value cannot be specified in the column definition.

C. The NEW_SALES table would not get created because the column names in the CREATE TABLE command and the SELECT clause do not match.
D. The NEW_SALES table would get created and all the FOREIGN KEY constraints defined on the specified columns would be passed to the new table.

Answer: A

NEW QUESTION 91
Which two statements are true regarding constraints? (Choose two.)

A. All constraints can be defined at the column level and at the table level.
B. A constraint can be disabled even if the constraint column contains data.
C. A column with the UNIQUE constraint can contain NULLS.

D. A foreign key column cannot contain NULLS.

E. A constraint is enforced only for INSERT operations.

Answer: BC

NEW QUESTION 95
You issue the following command to drop the PRODUCTS table: (Choose all that apply.) SQL > DROP TABLE products;
Which three statements are true about the implication of this command?

A. All data along with the table structure is deleted.

B. A pending transaction in the session is committed.

C. All indexes on the table remain but they are invalidated.

D. All views and synonyms on the table remain but they are invalidated.
E. All data in the table is deleted but the table structure remains.

Answer: ABD

NEW QUESTION 100

View the Exhibit and examine the details of PRODUCT_INFORMATION table.
PRODUCT_NAME CATEGORY_ID SUPPLIER_ID
Inkjet C/8/HQ 12

102094

Inkjet C/4 12

102090

LaserPro 600/6/BW 12

102087

LaserPro 1200/8/BW 12

102099

Inkjet B/6 12

102096

Industrial 700/ID 12

102086

Industrial 600/DQ 12

102088

Compact 400/LQ 12

102087

Compact 400/DQ 12

102088

HD 12GB /R 13

102090

HD 10GB /I 13

102071

HD 12GB @7200 /SE 13

102057

HD 18.2GB @10000 /E 13

102078

HD 18.2GB @10000 /I 13

102050

HD 18GB /SE 13

102083

HD 6GB /I 13

102072

HD 8.2GB@5400 13

102093

You have the requirement to display PRODUCT_NAME from the table where the CATEGORY_ID column has values 12 or 13, and the SUPPLIER_ID column has
the value 102088. You executed the following SQL statement:
SELECT product_name FROM product_information
WHERE (category_id = 12 AND category_id = 13) AND supplier_id = 102088; Which statement is true regarding the execution of the query?

A. It would not execute because the same column has been used in both sides of the AND logical operator to form the condition.
B. It would not execute because the entire WHERE clause condition is not enclosed within the parentheses.

C. It would execute and the output would display the desired result.

D. It would execute but the output would return no rows.
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Answer: D

NEW QUESTION 104

View the exhibit and examine the ORDERS table. ORDERS

Name Null? Type

ORDER ID NOT NULL NUMBER(4) ORDATE DATE DATE CUSTOMER ID NUMBER(3) ORDER TOTAL NUMBER(7,2)

The ORDERS table contains data and all orders have been assigned a customer ID. Which statement would add a NOT NULL constraint to the CUSTOMER_ID
column?

A. ALTER TABLE ordersMODIFY CONSTRAINT orders_cust_id_nn NOT NULL (customer_id);

B. ALTER TABLE ordersADD CONSTRAINT orders_cust_id_nn NOT NULL (customer_id);

C. ALTER TABLE ordersMODIFY customer_id CONSTRAINT orders_cust_nn NOT NULL (customer_id);

D. ALTER TABLE ordersADD customer_id NUMBER(6)CONSTRAINT orders_cust_id_nn NOT NULL;

Answer: C

NEW QUESTION 109
View the Exhibit and examine the structure of the EMP table which is not partitioned and not an index-organized table. (Choose two.)

EMP

Name Null? Type

EMPNO NOT NULL NUMBER (4)
FIRST NAME VARCHAR?2 (20)
LAST NAME VARCHAR?2
SALARY NUMBER (10, 2)
DEPTNO NUMBER (2)

Evaluate this SQL statement: ALTER TABLE emp
DROP COLUMN first_name; Which two statements are true?

A. The FIRST_NAME column can be dropped even if it is part of a composite PRIMARY KEY provided the CASCADE option is added to the SQL statement.
B. The FIRST_NAME column would be dropped provided at least one column remains in the table.

C. The FIRST_NAME column would be dropped provided it does not contain any data.

D. The drop of the FIRST_NAME column can be rolled back provided the SET UNUSED option is added to the SQL statement.

Answer: B

NEW QUESTION 110
View the Exhibits and examine PRODUCTS and SALES tables. Exhibit 1

PROD 1D NOTNULL [ NOVBIR®
PROD NAME NOT NULL VARCHAR? (50)

PROD_CATEGORY NOT NULL VARCHAR?2 (50)

PROD_UNIT OF MEASURE || VARCHARI G0 _

Exhibit 2
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"PROMO IL

QUANTITY SOLD

NOT NULL

You issue the following query to display product name the number of times the product has been sold:

VT DY T = - —— — - = = - - gy m—
SOL>SELECT p.prod name, l.ltem cnt

JGHT

ON i.prod id = p.prod

s
4
0
i
=
LJ
it
[r

I-r-j

What happens when the above statement is executed?

A. The statement executes successfully and produces the required output.

B. The statement produces an error because a subquery in the FROM clause and outer-joins cannot be used together.
C. The statement produces an error because the GROUP BY clause cannot be used in a subquery in the FROM clause.
D. The statement produces an error because ITEM_CNT cannot be displayed in the outer query.

Answer: A

NEW QUESTION 112

Evaluate the following statement. INSERT ALL

WHEN order_total < 10000 THEN INTO small_orders

WHEN order_total > 10000 AND order_total < 20000 THEN INTO medium_orders

WHEN order_total > 200000 THEN INTO large_orders

SELECT order_id, order_total, customer_id FROM orders;

Which statement is true regarding the evaluation of rows returned by the subquery in the INSERT statement?

A. Each row is evaluated by the first WHEN clause and if the condition is false then the row would be evaluated by the subsequent when clauses.

B. All rows are evaluated by all the three WHEN clauses.

C. Each row is evaluated by the first WHEN clause and if the condition is true, then the row would be evaluated by the subsequent when clauses.

D. The INSERT statement will return an error because the ELSE clause is missing.

Answer: B

NEW QUESTION 114

Examine these SQL statements that are executed in the given order:

CREATE TABLE emp

(emp_no NUMBER (2) CONSTRAINT emp_emp_no_pk PRIMARY KEY, ename VARCHAR 2 (15),
salary NUMBER (8, 2),

mgr_no NUMBER(2) CONSTRAINT emp_mgr_fk REFERENCES emp (emp_no)); ALTER TABLE emp
DISABLE CONSTRAINT emp_emp_no_pk CASCADE; ALTER TABLE emp

ENABLE CONSTRAINT emp_emp_no_pk;

What will be the status of the foreign key EMP_MGR_FK?

A. It will be enabled and immediate.

B. It will be enabled and deferred.

C. It will remain disabled and can be re-enabled manually.

D. It will remain disabled and can be enabled only by dropping the foreign key constraint and re-creating it.
Answer: C

NEW QUESTION 119
Examine the structure of the EMPLOYEES table. (Choose two.)
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Name Null? Type
EMPLOYEE 1D NOT NULL NUMBER(6)
FIRST NAME VARCHARZ (20)
LAST NAME NOT NULL VARCHARZ2 (25)
EMAIL NOT NULL VARCHARZ (25)
PHONE NUMBER VARCHAR2Z (20)
HIRE_ DATE NOT NULL DATE

JOB_ID NOT NULL VARCHARZ2 (10)
SALARY NUMBER (8, 2)
COMMISSION PCT NUMBER (2, 2)
MANAGER_ID NUMBER (6)
DEPARTMENT ID NUMBER (4)

You must display the maximum and minimum salaries of employees hired 1 year ago. Which two statements would provide the correct output?

A. SELECT MIN(Salary) minsal, MAX(salary) maxsalFROM employeesWHERE hire_date < SYSDATE-365GROUP BY MIN(salary), MAX(salary);
B. SELECT minsal, maxsalFROM (SELECT MIN(salary) minsal, MAX(salary) maxsal FROM employeesWHERE hire_date < SYSDATE-365)GROUP BY maxsal,
minsal;

C. SELECT minsal, maxsalFROM (SELECT MIN(salary) minsal, MAX(salary) maxsal FROM employeesWHERE hire_date < SYSDATE-365GROUP BY
MIN(salary), MAX(salary);
D. SELECT MIN(Salary), MAX(salary)FROM (SELECT salary FROM employeesWHERE hire_date < SYSDATE-365);

Answer: BD

NEW QUESTION 120
Which two statements are true regarding subqueries? (Choose two.)

A. A subquery can appear on either side of a comparison operator.

B. Only two subqueries can be placed at one level.

C. A subquery can retrieve zero or more rows.

D. A subquery can be used only in SQL query statements.

E. There is no limit on the number of subquery levels in the WHERE clause of a SELECT statement.

Answer: AC

NEW QUESTION 124
Evaluate the following query:

SELECT INTERWAL '300' MONTH,
INTERWVAL '94-2' YEAR TO MONTH,

INTERWVAL '"11:12:10.1234567' HOUR TO SECOND
FROM dual,

Which is the correct output of the above query?
A. +00-300, +54-02,+00 11:12:10.123457
B. +00-300,+00-650,+00 11:12:10.123457

C. +25-00, +54-02, +00 11:12:10.123457
D. +25-00,+00-650,+00 11:12:10.123457

Answer: C

NEW QUESTION 125

Which statement correctly grants a system privilege?
A. GRANT CREATE VIEWON tablel TOuserl;

B. GRANT ALTER TABLETO PUBLIC;

C. GRANT CREATE TABLETO userl, userz;

D. GRANT CREATE SESSIONTO ALL;

Answer: C

NEW QUESTION 126
View the Exhibit and examine the structure in the EMPLOYEES tables.
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Evaluate the following SQL statement: SELECT employee _id, department_id FROM employees
WHERE department_id= 50 ORDER BY department_id UNION

SELECT employee_id, department_id FROM employees

WHERE department_id=90 UNION

SELECT employee_id, department_id

FROM employees

WHERE department_id=10;

What would be the outcome of the above SQL statement?

A. The statement would not execute because the positional notation instead of the column name should be used with the ORDER BY clause.

B. The statement would execute successfully and display all the rows in the ascending order of DEPARTMENT _ID.

C. The statement would execute successfully but it will ignore the ORDER BY clause and display the rows in random order.

D. The statement would not execute because the ORDER BY clause should appear only at the end of the SQL statement, that is, in the last SELECT statement.

Answer: D

NEW QUESTION 129
The BOOKS_TRANSACTIONS table exists in your database. SQL>SELECT * FROM books_transactions ORDER BY 3; What is the outcome on execution?

A. The execution fails unless the numeral 3 in the ORDER BY clause is replaced by a column name.

B. Rows are displayed in the order that they are stored in the table only for the three rows with the lowest values in the key column.
C. Rows are displayed in the order that they are stored in the table only for the first three rows.

D. Rows are displayed sorted in ascending order of the values in the third column in the table.

Answer: D

NEW QUESTION 130
Which statement is true about Data Manipulation Language (DML)?

A. DML automatically disables foreign ley constraints when modifying primary key values in the parent table.

B. Each DML statement forms a transaction by default.

C. A transaction can consist of one or more DML statements.

D. DML disables foreign key constraints when deleting primary key values in the parent table, only when the ON DELETE CASCADE option is set for the foreign
key constraint.

Answer: C

NEW QUESTION 132

View the exhibit and examine the data in ORDERS_MASTER and MONTHLY_ORDERS tables.
ORDERS_MASTER ORDER_ID ORDER_TOTAL

1

1000

2

2000

3

3000

4

MONTHLY_ORDERS ORDER_ID ORDER_TOTAL

2

2500

3

Evaluate the following MERGE statement: MERGE_INTO orders_master o

USING monthly_orders m ON (o.order_id = m.order_id) WHEN MATCHED THEN

UPDATE SET o.order_total = m.order_total DELETE WHERE (m.order_total IS NULL) WHEN NOT MATCHED THEN
INSERT VALUES (m.order_id, m.order_total)

What would be the outcome of the above statement?

A. The ORDERS_MASTER table would contain the ORDER_IDs 1, 2, 3 and 4.
B. The ORDERS_MASTER table would contain the ORDER_IDs 1, 2 and 4.
C. The ORDERS_MASTER table would contain the ORDER_IDs 1, 2 and 3.
D. The ORDERS_MASTER table would contain the ORDER_IDs 1 and 2.

Answer: B

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version 1Z0-071 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/1Z0-071-dumps.html (187 Q&AS)

Explanation:
References:
https://docs.oracle.com/cd/B28359 01/server.111/b28286/statements_9016.htm

NEW QUESTION 136

You want to display the date for the first Monday of the next month and issue the following command: SQL>SELECT
TO_CHAR(NEXT_DAY(LAST_DAY(SYSDATE), 'MONY,

'dd "is the first Monday for" fmmonth rrrr') FROM DUAL;

What is the outcome?

A. In generates an error because rrrr should be replaced by rr in the format string.

B. It executes successfully but does not return the correct result.

C. It executes successfully and returns the correct result.

D. In generates an error because TO_CHAR should be replaced with TO_DATE.

E. In generates an error because fm and double quotation marks should not be used in the format string.

Answer: C

NEW QUESTION 140

Examine the commands used to create DEPARTMENT_DETAILS and COURSE_DETAILS:

SQL>CREATE TABLE DEPARTMENT_DETAILS (DEPARTMENT_ID NUMBER PRIMARY KEY, DEPARTMENT_NAMEVARCHARZ2(50), HODVARCHAR2(50));
SQL>CREATE TABLE COURSE_DETAILS (COURSE_IDNUMBER PRIMARY KEY, COURSE_NAMEVARCHAR2(50), DEPARTMENT_IDVARCHAR2(50));
You want to generate a list of all department IDs along with any course IDs that may have been assigned to them.

Which SQL statement must you use?

A. SELECT d.department_id, c.course_id FROM department_details d RIGHT OUTER JOIN course_details ¢ ON (d.department_id=
B. department_id);

C. SELECT d.department_id, c.course_id FROM department_details d LEFT OUTER JOIN course_details ¢ ON (d.department_id=
D. department_id);

E. SELECT d.department_id, c.course_id FROM course_details c LEFT OUTER JOIN department_details d ON (c.department_id=
F. department_id);

G. SELECT d.department_id, c.course_id FROM department_details d RIGHT OUTER JOIN course_details ¢ ON (c.department_id=
H. department_id);

Answer: B

NEW QUESTION 143
You notice a performance change in your production Oracle 12c database. You want to know which change caused this performance difference.
Which method or feature should you use?

A. Compare Period ADDM report.

B. AWR Compare Period report.

C. Active Session History (ASH) report.

D. Taking a new snapshot and comparing it with a preserved snapshot.

Answer: B

NEW QUESTION 147
Examine the structure of the PROGRAMS table:

Name Null? Type

PROG ID NOT NULL NUMBER (3)
PROG COST NUMBER (8, 2)
START DATE NOT NULL DATE

END DATE DATE

Which two SQL statements would execute successfully?

A. SELECT NVL (ADD_MONTHS (END_DATE,1) SYSDATE) FROM programs;

B. SELECT TO_DATE (NVL (SYSDATE-END_DATE, SYSDATE)) FROM programs;

C. SELECT NVL (MONTHS_BETWEEN (start_date, end_date), ‘Ongoing’) FROM programs;

D. SELECT NVL (TO_CHAR (MONTHS_BETWEEN (start-date, end_date)), ‘Ongoing’) FROMprograms

Answer: AD

NEW QUESTION 149
View the Exhibit and examine the data in the employees table.
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EMPLOYEES

ENAME HIREDATE SAL COMM
SMITH 17-DEC-00 800
ALLEN 20~-FEB-9% 1600 100
WARD 22-FEB~95 1250 S0C
JONES J2-APR-98 2915
MARTIN 28+~8SEP-99 1250 1400
BLAKE 01-MAY-97 2850

You want to generate a report showing the total compensation paid to each employee to date. You issue the following query:
SQL>SELECT ename ||' joined on '|| hiredate ||
‘s the total compensation paid is ‘||
TO_CHAR (ROUND (ROUND (SYSDATE-hiredate) /365) * sal + comm)
“"COMPENSATION UNTIL DATE"
FROM employees;

What is the outcome?

A. It executes successfully but does not give the correct output.

B. It generates an error because the concatenation operator can be used to combine only two items.
C. It generates an error because the usage of the round function in the expression is not valid

D. It generates an error because the alias is not valid.

E. It executes successfully and gives the correct output.

Answer: A

NEW QUESTION 154
Which two statements are true regarding the WHERE and HAVING clauses in a SELECT statement? (Choose two.)

A. The WHERE and HAVING clauses can be used in the same statement only if they are applied to different columns in the table.
B. The aggregate functions and columns used in the HAVING clause must be specified in the SELECT list of the query.

C. The WHERE clause can be used to exclude rows after dividing them into groups.

D. The HAVING clause can be used with aggregate functions in subqueries.

E. The WHERE clause can be used to exclude rows before dividing them into groups.

Answer: CD

NEW QUESTION 156

Using the CUSTOMERS table, you need to generate a report that shows 50% of each credit amount in each income level. The report should NOT show any
repeated credit amounts in each income level.

Which query would give the required result?

A. SELECT cust_income_level || * || cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.

B. SELECT DISTINCT cust_income_level || * * || cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.

C. SELECT DISTINCT cust_income_level, DISTINCT cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.
D. SELECT cust_income_level, DISTINCT cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers

Answer: B

NEW QUESTION 159
Examine the structure of the INVOICE table. NameNull?Type

INV_NONOT NULLNUMBER(3) INV_DATEDATE INV_AMTNUMBER(10,2)
Which two SQL statements would execute successfully?

A. SELECT inv_no, NVL2(inv_date, 'Pending’, 'Incomplete’)FROM invoice;

B. SELECT inv_no, NVL2(inv_amt, inv_date, 'Not Available')FROM invoice;

C. SELECT inv_no, NVL2(inv_date, sysdate-inv_date, sysdate)FROM invoice;
D. SELECT inv_no, NVL2(inv_amt, inv_amt*.25, 'Not Available")FROM invoice;

Answer: AC

NEW QUESTION 162
Which two statements are true regarding the execution of the correlated subqueries? (Choose two.)

A. The nested query executes after the outer query returns the row.
B. The nested query executes first and then the outer query executes.

C. The outer query executes only once for the result returned by the inner query.
D. Each row returned by the outer query is evaluated for the results returned by the inner query.

Answer: AD
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